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f2 <-tibble(x=0:10,y= dbinom(seq(0,10,1),10,0.3))
ggplot(f2) + geom_bar(aes(x=x,y=y),stat="identity")
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f2 <-tibble(x=0:10,y= dbinom(seq(0,10,1),10,0.5))
ggplot(f2) + geom_bar(aes(x=x,y=y),stat="identity")
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A=20000*0.0001=2, dpois(3,2)=0.180
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ggplot(data.frame(x=c(0:10)), aes(x)) + geom_line(aes(y=dpois(x,1)),co
lour="red")+

geom_line(aes(y=dpois(x,2)),colour="blue") +
geom_line(aes(y=dpois(x,3)),colour="green")
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library(tidyverse)

## — Attaching packages tidyverse 1.3.0 —
## v ggplot2 3.3.3 v purrr 0.3.4

## V tibble 3.0.4 v dplyr 1.0.2

## Vv tidyr 1.1.2 v stringr 1.4.0

## v readr 1.4.0 v forcats 0.5.0

## — Conflicts tidyverse_conflicts() —

## x dplyr::filter() masks stats::filter()
## x dplyr::lag() masks stats::lag()

f1 <-tibble(x=0:10,y=dgeom(seq(9,10,1),0.3))
ggplot(fl) + geom_bar(aes(x=x,y=y),stat="identity")
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<ScaleContinuousPosition>
f1 <-tibble(x=0:10,y=dgeom(seq(9,10,1),0.5))
ggplot(fl) + geom_bar(aes(x=x,y=y),stat="identity")
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X3 6 23ELE % 100 F TH A X H T shape=4,rate=5,bins=30)
ggplot(data.frame(x =rnorm(100,0,1)) )+

geom_histogram(aes(x=x),bins=30)+
stat_function(fun =dgamma,args=c(shape=4,rate=5))
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mean <- 50; sd <- 10; x1 <- 70

yl <- dnorm(x1,mean=mean,sd=sd)

ggplot(data=data.frame(x=c(0,100)), aes(x=x)) +
stat_function(fun=dnorm, args=c(mean=mean,sd=sd) ) +

geom_area(stat = "function", fun = dnorm, args=c(mean=mean,sd=sd),fill
= "green", xlim = c(0, x1))
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Dexp(0,1,0)=1, dexp(1,1,0)=0.36787,dexp(2,1,0)=0.13533

ggplot(data.frame(x =c(-1,3)),aes(x=x) )+
stat_function(fun =dexp,args=c(rate=1))
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dgamma(1,rate=2,shape=3)=0.5413411
pgamma(1,rate=2,shape=3)=0.3233236

H =437 (T, shape=4,2,1,rate:1)

ggplot(data.frame(x =c(-1,15)),aes(x=x) )+
stat_function(fun =dgamma,args =c(shape=4,rate=1))
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ggplot(data.frame(x =c(-1,15)),aes(x=x) )+
stat_function(fun =dgamma,args =c(shape=2,rate=1))
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ggplot(data.frame(x =c(-1,15)),aes(x=x) )+
stat_function(fun =dgamma,args =c(shape=1,rate=1))
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